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2 aueiws sallept aygsT Quipdlu BIe 618)?

(A) pleveyiny, (B) @flw smpgl  (C) Caamvemip (D) ymGlsmg
Spaumeuareupmien s6llerT SaviemsTIET QUIDDTS HTD 6157

(A) opullyhdey imiguwIma 66 (B) @yren st ena

(C) wormis el (D) Qaruiwmsgefl

‘baebeueevT ebevmta@ wrulli (pmevLd’
useubumh ulLer Plmer” - @s@mer @b Cupn Buied e1g)?

(A) Bsvevmailuted (B) &meumailuied (C) eamfluied (D) urullyailwed
‘Oogevedlsraar ooy Saimards dnpls Osmewr_eur wmir?

(A) giSlywenilus Lmydlwimis (B) agsrenss LmgSlumr

(C) Camoapgy Lmyluimi (D) aLiflywenflus fleur
SlmwBemswTpaurt GFreooweailuiled yensgLt Lmqul BT 615?

(A) Slbé @ mib e aLb (B) 8l Glaupdsnpilmdms

(C) BB HBSTeamTL 551D (D) glmaupsrgl

‘Betemens s10p° — etamn Guwifl em sefl preflmens GFuls wpse o flui

wimir?

(A) @L L& ST (B) ysCibdl (C) Gureyugt (D) usflsmssi
saflparCpir aumeugd @aflipar Bleny eumHeugid

(A) sszmen (B) au@hFlggmen

(C) Bupéir Qe emer (D) Qeuearéir Glouewi_enen

Oewium’® eflewensy CeTHOPTLMIS 6w pls
(A) prharedl sFFamed CeFuwiwiil L g

(B) s&gar prpstedleamwd Oguismer

(C) prharallenws QFuigeuet s

(D) prharellenwis siFgar OFuigme

ungdla@ ‘warsal’ — aamw UL OCET®SSeur wimr?
(A) augm (B) 2_.CGeu. & (C) &l.9y. Qe (D) evm.g.gm



97.

98.

99.

100.

‘waieiar 2 uiliT$Cs W FME® 2 E@SLD™- 6T LITIQUIGMT

(A) oifldled lpmir (B) GordlSyermit (C) gememeuwiit (D) wyewrr
Oaflflme allmaCuissms aBSs 61(HSIs.

(A) Crmullers] eumpdlmmest (B) Gedev BLBSTewT

(C) pLBGI eubBSTen (D) mewn umqestrest

saupras Gurmssiul Lans CsibOs®
(A) wpwigger - sraflwLiumeaney (B) #&dlamanpspar - yanbss Cspe
(C) Gor@mwuri- Smaswd@aml ymed (D) saueugraa - sralluilimene

“urmiefl  gPpLET U IREB5HGE (GWAECsTEL  CsTHESL 6D

Qameiten” — eraip umLed eufl @b Gubmieiten HTed 618?
(A) Gerevsmitdlund  (B) Caeurgib (C) Aeviiudlamyd (D) ymbranmm
101. Match the following dams with the states in which they are
located
List -1 List - II

a. Hirakud Project 1. Andhrapradesh
b. Nagarjunsagar Project 2. Kerala
c. Rihand Valley Project 3. Uttarpradesh
d. Periyar Project 4. Qdissa

a b c d
(A) 4 1 3 2
(B) 1 2 3 4
(@)} 4 3 2 1
(D) 2 4 3 1
Oumr g gis
uLiquieo— I ucCiquied — II
a. gLl Sl LD 1. opSlrSlyCaeab
b. premTder FrsiT ShLb 2. Gaygerm
C. MIHAIL LIGTONSSTHE S LD 3. 2 &3lyilyCsgid
d. Guflwrir Sl b 4. euqarm

a b c d
(A) 4 1 3 2
(B) 1 2 3 4
(C) 4 3 2 1
(D) 2 4 3 1

102. The value of solar constant is

(A) 4.5 calories/cm?/minute (B) 1.5 calories/cm?/minute
(C) 2.0 calories/cm?/minute (D) 1.0 calories/cm?2/minute

‘@flw wrdled’ — ufler iy
(A) 4.5 &Cevmil/ Qa1 / Bl b (B) 1.5 &Cemfl/ Glgut? / Bhblib
(C) 2.0 &8evmil/ Qa1t?/ Bl b (D) 1.0 &Geurfl/ Qa1 / Bhl1b



103. The local wind which is known as ‘Snow eater’ is

(A) Fohn (B) Loo (C) Chinook (D) Mistral

‘vefl 2 evienl” aRIWEPESILIGL FVESTHDI .
(A) ..umesr (B) sur (C) Haprés (D) wlerdL gred
104. Match the following

Sphere Related to
a. Troposphere 1. Chemosphere
b. Strotosphere 2. Mother of pearl clouds
c. Ozonosphere 3. Region of mixing
d. Ionosophere 4. Aurora

a b c d
(A) 1 2 3 4
(B) 2 1 4 3
(C) 4 3 2 1
(D) 3 2 1 4
Quimm s gis

y 3’1@514561'1 QamLiny

a. L GymiGumerdiiluiir 1. Q&Gomerduiluuir
b. v CyrGLmebiiluwir 2. g 1I@umen Cuossdlar smul
c. @CarCammerbLilwiir 3. sl Qar@gl
d. egwiGarmardiiluiir 4. o Cymym

a b c d
(A) 1 2 3 4
(B) 2 1 4 3
(C) 4 3 % 1
(D) 3 2 1 4

105. Identify the place which lies in the rain shadow region of the

Western ghats.
1. Mumbai 2. Coimbatore 3. Benguluru 4. Goa

(A) 3 only B) 1,2 and 3 (C) 2 and 3 (D) 2 only

Cohg OsrLisdl wenevullar weanp wewmey Ullsesdled mwbgerer BLsms

O[O ITETLD S50,
1. (pLbenLs 2. Camubysgrir 3. Gumiseenm 4. Gameur

(A) 3 L (B> B) 1, 2 womw 3 (C) 2 wHuyud 3 (D) 2 wl@w

106. Consider the following statement:
Assertion (A): The act of civil servant is by convention
regarded as the act of his Minister

Reason (R) : It is recognized rule of Parliamentary practice

that the criticism of administrative action
must be framed as criticism of Minister
as criticism of Civil Servant



(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

SpsaemiL aursElmismen seuefl:

anpml (A) : Sglariseler BLaqsmaser wbdlflseaflar
BLAIGSMSHMET S5 SHTILILIHSE)
smyewnd (R) UMIT@BO6D PSS FLLbd Quibhmieuiseer

L AIQEMSSEET, FlsTilaamen DedaTg)
whmeITsmeTCW STé@ELD (& 6I(PmL LIgG).

(A) (A) wpmid  (R) Grewi@w  &f pemed (R) aamwg (A) eibg eflumer
TS BLOGOGV

(B) (A) wpmid (R) @yewipd &l Cuweid (R) araiug (A) aflb@ Fflwmer allendsid

(C) (A) ofl pamed (R) seugy

(D) (A) soupt pemred (R) ol

107. Match the following

Authorities Articles
a. Comptroller and Auditor General of India 1. Article (280)
b. Attorney General of India 2. Article (344)
c. Finance Commission 3. Article (76)
d. Official Language Commission 4. Articles (148)
a b c d
(A) 4 3 1 2
(B) 1 2 3 4
(@)} 3 2 1 4
(D) 4 3 v 1
Qumm S g%
9 51%’ S{GDLOLIL S 61T alglseir
a. @pdlurailear seamd@ wHmILd Heilsamas 1. (280)b @&flg]
SLHLUILTL(H SmVenLd Sl
b. @il et smevenw aupdadlerT 2. (344)d> alg
C. BlFl opememtuiid 3. (76)b &flg]
d. emsasfssiu L Gurflaepsasrar Qymeauub 4. (148)b aild
a b c d
(A) 4 3 1 2
(B) 1 2 3 4
(C) 3 2 1 4
(D) 4 3 2 1

108. Which of the following subject is included in the concurrent list
of the constitution of India?
(A) Citizenship (B) Interstate rivers
(C) Trade Unions (D) All India Services

Ourgis uliquelled o eitenLmiflujeiten Gienw 61?



(A) Guflenwo (B) wmplevmis@pddlent Guiwimer y,miser
(C) OCamiplmamisniser (D) @idlv @nglwr Lemiser

109. Which of the following electoral systems have been adopted for
various elections in India?
1. System of direct election on the basis of adult suffrage.
2. System of proportional representation by means of the single
transferable vote.
3. List system of proportional representation.
4. Cumulative system of indirect elections.
Select the correct answer from the codes given below
(A) 1 and 2 (B) 1 and 3 (C)1, 2 and 3 (D) 2, 3 and 4

Siduralled BLES ud)@mgl Ggfrgsi)&aﬂsi) Weamwppo’ L Csirsed (pewm e1gy?
1. auwg eaupCsrmasrar Cprg Caised (pavm
2. @hep WLIPM aTésales amas OewwiulL  eldlsregry  Ulydlblleseu

Oy
3. aldlgngany Sydlbldlsaien wpevm
4. wopps CsTaa AHBS@ (P
S0 Oar@asliu’eren eullmawlar gflwurer aflomws Csibls a@s:
(A) 1 womrd 2 (B) 1 pgd 3 (C) 1, 2 womwp 3. (D) 2, 3 wpmd 4

110. Centra Vigilance Commission was established in
(A) 1964 (B) 1963 (C) 1962 (D) 1960

WSS 2aped savETailLL QLD & (HeUTESSLILILL G
(A) 1964 (B) 1963 (C) 1962 (D) 1960

111. Consider the following statements:

All the Reports of the Comptroller and Auditor General of India.

1. Relating .to. accounts of the union and accounts of states are
submitted to the President of India.

2. Relating to accounts of a state are submitted to the governor of the
state.

3. Relating to accounts of states are submitted to the Union Minister of
Finance.

Which of the statements given about is correct?

(A) 1 only (B) 2 only (C) 3 only (D) 1 and 3 only

Ulerau@pd snpplener & 60 Osmeirs

o uaJDnaﬂa) mﬂmmamgb gfmaarr wpptd sallsamas yFlariiuilar enanss

I &E(ETpLD.

L iwgdw  wpgd  wiplvBsalla omadg sais@s@b Bl GQuIsS
SDOAUMHEE FillssiILBSM.

2. wirplwsdlar  sand@ OaTLIUT@IM  D@SHILD LOTBIV Y EHBHBS
FoTlsSLILBS6.

3. wmplovmis e 65666165@ &Sl ’#fﬂﬁ g;ﬁmwé&@é@ FOTUG SIS0

Cupllgraier s.pmsefled aeneu Fflwireng)?

(A)1 i@ (B) 2 wl@w (C) 3 L@ (D) 1 wpmidb 3 L @b



112. The Second Administrative Reforms Commission was constituted
by the government of India in the year .
(A) 2006 (B) 2007 (C) 2008 (D) 2005

QuemiLmeugy  plieurs  Fimss — pywavwd  QpSlu  SETEISSSTE
OIMLOGSLILIL L. 4,6501(H .
(A) 2006 (B) 2007 (C) 2008 (D) 2005

113. The Constitution of India recognizes
(A) Religious and linguistic minorities
(B) Religious, linguistic and ethnic minorities
(C) Only religious minorities
(D) Only Linguistic minorities

Sidlu swflweenwLi Bemeusamen mdsTlsdng)

(A) vs wpmud Gory FAmimerento

(B) o Gomfl whmib Bewr Fmyimerento

(C) vs Fmimeento ol HLb

(D) Gory) Amimestento 1oL @BIb

114. Match List I with List II and choose the correct answer from the
codes given below:
List -1 List - II

a. Chennakeshava Temple 1. Halebeedu

b. Hoysaleswara Temple 2. Somanathapura
c. Keshava Temple 3. Govindanahalli
d. Panchakuta Temple 4. Belur

a b c d
A) 4 oW s
B 1 a% 3T 3
© 1952 "3 2
D)gms W 3 2
ulqwe I &flpbe uwiqued II Qurmpsgs. eflurer  afleveamw
(CIANICE LR Gl ET C‘%f’i@ﬁ@-’
uliquied- I uciquiev- 11
a. OeaiaCasgeur Gasmuliled 1. awaSli®
b. Qanruigbevabdeugi Camulled 2. GamoprgLyid
c. Casgour Gamuiled 3. Carailbapasae
d. u@hgamri Camuiled 4. Gueyrrit
a b c d
a 4 1 2 3
B 1 4 2 3
© 1 4 3 2
m 4 1 3 2



115. Consider the following statement:
Assertion (A): Tamilaham is in the tropical region and for the
major part of the year the weather is warm.
People wore suitable dress. The excellent texture
of the clothes has been commented upon by the
poets of Sangam age.

Reason (R) : Rich ladies of Sangam age are stated to have
worn “Kalingam” which was a famous variety of
fine cotton.

A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
B) Both (A) and (R) are true and (R) is the correct explanation of (A)

C) (A) is true but (R) is false

D) (A) is false but (R) is true

— — — —

SpssemiL aursElmismen seuel:

anpml (A) : silpsb Yywsdlw Crems ugdlew @Lig
SIMWHSBLILSTED Qpawnger  QLipbLTeTaT . [BHIL S6fe)
2 agawonen  FCgragant Bl STALILGSIDG. 10&SHET
SGIwnen 2 mLsmen albSIT. FHhIG BAGOLI LIEOGUITHET
S(HEDDWITET Gl CUMSFZM6N ShIGET LITL 05660
@IS Beirerei.

smyeond (R) - FEIB MY 2 W@y Gueaiser “selmbsn”
eI paaLILIHD,  Gweeili LBSS L samer
SIilbSeTT

(A) (A) wpmd (R) B@yewmipn &fl pemed (R) ez (A) olh@ gfluwmer
TS HLOGOG

(B) (A) wpmip (R) @yawipd &l Cwayid (R) aaig (A) allb@ gflwrear allendsid

(©) (A) ol gyemed (R ougy

(D) (A) soups. yamted (R) . o

116. An important objective of National Population Policy of 2000 was
(A) To achieve a stable population by 2046
(B) Reduction of birth rate
(C) Improving the quality of population
(D)Reduction of death rate

2000-gy1> gyewnqenr, Gl wss6r CQzTans Osmaranaullar (ol @plsGsmer
(A) 2046 1> Y@ BleweowiTen WwESHe CBTMSMUI DML UG

(B) dpiiy eigsms G@pLiLig

(C) wsaar Oaramasuwilear srsms o Wisgeaus

(D) Bpiiy eigsms GmpLiLg

117. Which of the following schemes which scheme was started by the
Government of India for the benefit of urban slum dwellers?
(A) Integrated Housing and Slum Development Programme
(B) Indira Awas Yojana
(C)Jawaharlal Nehru National Urban Renewal Mission
(D) Swarnajayanthi Rozgar Yojana



Spsaai. I Lmiselled ebg S Ld BSTLIYD G euryp éS6T LwaOLmILD
QurpL® BB Sared Qyybilésii L g?

(A) @pmidlenemibg oIl (B 6ugdl HMID GLGnF GUTEFSS S L LD

(B) @n8lym sieurerd Guirggenrm

(C) mouawiroored Cmp Cadlw paTiyD Lewgenoliyg Sl b

(D) eveuiramGguibgl Cyreganit Guimggeonm

118. The mostly accepted measure for finding out the level of
employment is
(A) Usual Status (B) Current Daily Status
(C) Current Weekly Status (D) Current Montly Status

Goueme euruiiy Blewewemw Plbg Osmerer opg Spssawi (weap OGuflgn |
gnmis Gamerer LB Eleimg?

(A) eupssiomar Hrid (B) Blaspsre Si@mrL gL
(C) Blasparev euty sSiyib (D) plspsmev 118 SILb

119. Which of the following is a land reform measure adopted in India?
(A) Abolition of Zamindari System
(B) Abolition of Mahalwari System
(C) Aboilition of Ryotwari System
(D) Abolition of Land records
Uareumeuareupmier  e1gl - Digwmeile  CuwpGsrteteniu’L  BloFFislnss
[BL6UIG& MBS EIHET GERTDTSHLD?
(A) gibangml pewm @il
(B) wamedaurtl wpewm @iy
(C) Bywigeuri] wpowp @ity
(D)plev oy euammigsair gLl

120. Which one of the following is not a Tenancy Reform?
(A) Regulation of Rent
(B) Security of Tenure
(C) Abolition of Intermediaries
(D) Conforment of ownership rights to Tenants

SIpS S UDIIGT 615 HSSMSSTIT FTdHS35F0 @amrs Beame?
(A) aurLemasemw &1 Gauise

(B) @ssma ungisTLiL

(C) BewLuii L renitsamen gldse

(D) @83ma5M11(h&E@ Blev o Mamw eupmise

121. 1,4, 6,9, 11, 14, 16 next to 16 is
(A) 19 (B) 17 () 18 (D)16
1,4,6,9, 11, 14, 16 16 &3 Une aumeug

(A) 19 (B) 17 (C) 18 (D)16



122. Choose the correct option to complete the alphabet letter series
AB B, BC C, AB , AB B
(A) CCAAC (B) CBABC (C) CACAC (D) BCCAB

Oar@ésuulL ymdle ewss Osrii auflmgaw Blowey OGeuuwn gflwme
aflenLewis ngfég@aa

AB___ B, BC C, AB , AB B

(A) CCAAC (B) CBABC (C) CACAC (D) BCCAB

123. Sum to n terms of an Arthimetic progression is 2n2+ n then eight

term is
(A) 136 (B) 36 (C) 131 (D) 31

o SL®S Cgri aflwsuia n o priysala sa@sd 2n+ n aaflld e
GILLMD 2 M| e18?
(A) 136 (B) 36 (C) 131 (D) 31

124. A school boy walks from his housr to school at the rate of 4
kmph. He reaches the school 20 minutes earlier than the schedule
time. If he walks at the rate of 3 kmph, he reaches the school 20
minutes late. What is the distance of the school from his house?

(A) 12 km (B) 480 km (C) 21 km (D) 8 km

@ Ueitefl wramas Saigl Wil gemh) umaﬂasahl_ SIb@ 4 &b/ wewdl ereim
ousSFled  BLHSI FRTDTED @gu die Corssme 20 Pl misensE
arsCeu  GeammenL dlpmer. DTS Gousd 3 dlib/wenfl a@PlHHSTD 20

g LOIL_migs 6T Bmogiors  GleaipenL aime aafled e gellpbg uerefls FnLSSDE

2 _aiTen GMJLD eT6eU6T6y?

(A) 12 &b (B) 480 &.i5 (C) 21 &lib (D) 8 &lib
125. How many prime numbers lies between 1 to 100
(A) 26 (B) 25 (C) 24 (D) 20
1 &@w 100 S@w Qe Cw wbgerer UsT eevseflear  oTaveanilsans
6161162161767
(A) 26 (B) 25 (C) 24 (D) 20

126. Median of 12, 17,5, 8, 13,6, 9 is
(A) 8 (B) 9 (C) 12 (D) 17

12, 17, 5, 8, 13, 6, 9 aam alougmiseiar QL Blame Ijerey
(A) 8 (B) 9 () 12 (D) 17

127. Spherical metal ball of radius 6 cm is melted and casted into
small spherical balls having diameter 6 mm. How many small balls

can be casted.
(A) 8000 (B) 1000 (C) 6000 (D) 2000



6 Q&5 ygueren Csmearangey 2 Crasds@ean® 2 BasLULB 6 Wb
ol Lpeiror Sl Camemeuqey  GIGEMTS MUTTESILL LT TSSmer S
Carenauqey Geaipsar Elend@w?

(A) 8000 (B) 1000 (C) 6000 (D) 2000

128. Work in a for 300 men had provisions for 90 days after 20 days
50 men left the fort. How long would the food last at the same
rate?

(A) 160 days (B) 210 days (C) 84 days (D) 80 days

g@ CamienLulled Goumev wvumTd@G 300 wBTHERSE 90 BILHEBHS
FSmauLTer 2 ewiey Oummer 2 eiteng. 20 BTLsEnds@ Upe 50  Guir
Geaimell Lerr. Wgpeiten 2 awiey (SSME BT HEhSE au(HLD?

(A) 160 BT 6T (B) 210 mmisaer (C) 84 prlser (D) 80 mm s

129. A man can do a work in 3 days alone and a women can do the
same work in 9 days alone. If both are work together in how many
days they finished the same work.

(A) 14/9 days (B) 6 days (C) 2 Y4 days (D) 3 /2 days

@ w1 @ Couemevenws gaflurs 3 prisefled wpuumr. 96s Goumeaenws
@m Ouewr seflure 9 mrisefled wpuurt. B8s  Camewer B meaumbd
Bmenmbg TSmO BILS6MGD LPIQLILITTS6N?

(A) 14/9 mrisaer (B) 6 Brsser (C) 2 Va prsen (D) 3 2 prisaer
130. Range and Range coefficient of the data -3, -2, -1, 0, 1, 2, 3 are
respectively
(A) O and 6 (B) 6 and O (C)0and O (D) 6 and =«

-3, -2, -1, 0, 1, 2, 3 aaw aluBsEpsETar alFs wWHMLD 6iFas OClsp
penrmCui
(A) O opmtd 6 (B) 6 wmmd O (C) O womud O (D) 6 wohmid

131. Shyam Kumar is associated with which sports?
[A] Chess [B] Boxing [C] Sprint [D] Wrestling

“gmb @rr eps ealeerwr’® Curlquear GOSTLjLjenLweuyTeuri?
(A) Glga (B) @sagissanamr  (C) eviifle (D) wedujssLd

132. The 2017 National Tuberculosis (TB) summit has started in which
city?
[A] Chennai [B] Hyderabad [C] Guwahati [D] Dharamshala

“2017- Csflw @reCpmul BTG 6bs Bajsdled BerLLIGLDDS?

(A) Glgarener (B) ;aymums (C) Qzemarsd (D) sibameor
133. Which state government will start a one-year diploma course on

“Hindu Purohityam”?

[A] Uttar Pradesh [B] Madhya Pradesh

[C] Jharkhand [D] Rajasthan



apg bl yerarg “Hindu Purohityam” aa@iw @@ euwmr quenCGuom
uglienu blilss 2 ereng?

(A) 2_58llyCaed (B) wgglw SlyCzeib

(C) egmiragevr (D) gregervgmedt

134. Who has been appointed as the new Prime Minister of Federal
Republic of Somalia?

[A] Hassan Abshir Farah [B] Ali Mohammed Ghedi

[C] Hassan Ali Khayre [D] Omar Abdirashid Ali

@uwyg Cemorelwrellar ydlu Sygw widlflures Blundlésiu’ Leuir wimi?
(A) awrear oiaglt Lmgm (B) @6 (pawg Gsg

(C) awrgar e smuwii (D) g ouilgrragy e

135. The Government of India (GoI) has recently signed pact with
which country on rail safety?
[A] Japan [B] Germany [C] Italy [D] France

sibusgdled @I FTESLTMG “Qruiled UTHISTUILTE LUUBSSWMS 6lhS
BT AL anaGuwmiubdle g?
(A) sgiimest (B) Glegiroefl (C) @ssma (D) Ugneie

136. Net gain of ATP molecule through the fermentation of a single

glucose molecule is
(A) 1 (B) 2 (©) 3 (D) 4

@M &GenéCarad apdamm anflins GCBTdlsse apod HaLsgw Owrss Bley
owrL ATP apeold gnmisaflen eceamienidsms
(A) 1 (B) 2 (C) 3 (D) 4

137. Add the binary numbers 1011 and 101
(A) 10001 (B) 11111 (C) 10000 (D) 10010

@Lanf aeviger 1011 wmmid 101 s (B
(A) 10001 (B) 11111 (C) 10000 (D) 10010

138. India’s first super computer is
(A) Agni (B) Flow solver (C) Param (D) Trisul

Siglwrailar upFed @LILT SbuyL L i
(A) Agni (B) Flow solver (C) Param (D) Trisul

139. Identify the incorrect statement from the following?
(A) The alluvial soils occur mainly in the Ganga — Brahmaputra plains of
India
(B) The tropcical chernozems are otherwise called as black soils in India
(C) Laterites form a major proportions of soils in India
(D) Desert soil is found in northwestern part of India



&8 Gar@éslLl BeraTameausaisd SUDTET UTEHLISMS SIEOLUITEID ST
(A) @bglwralled  euemied wewr, smIews — UlgwysSlym  Fwlleuailuiled  iFlsid

ST LIRS 1.

(B) @uwenr  wewiLev OgrGemad eaiaip wewt euens  Bpdluiralled siflaed e
TIPS SLILIHSID G,

(C) @nglwrailer et cumssailed Fgemev wewl eums @@ Uljgrar FHasHmS
udlGSlTn ).

(D)urenev et @pglwmrailer euGuom@ L@Gduiled sreviLGEnai.
140. The world’s largest riverline island situated in river Brahmaputra
is
(A) Varanasi (B) Tsang-Po (C) Majauli (D) Manas

Slpboysdlgr bl semwbgier 2 odlar Waslufly bhmissea
(A) eurgesoimd] (B) gmmi Guim (C) oggad] (D) womermerd

141. The person who has proposed the concept of black holes in the

sun is
(A) Sir William Herachel (B) Albert Einstein
(C) Newton (D) Harris Lippershey
Gfweflled a&mbgmerser eamn Smslmer GeuafluillLeuir
(A) g1 aflebedluid GaniTGlagev (B) @p60LITL. - gneverbenL 6T
(C) Blup L eor (D) Gamffed iLTGlag

142. The World Trade Organization (WTO) is the successor to which
one of the following institutional arrangement?
(A) World Trade Community
(B) International Trade and Development Association
(C) General Agreement on Trade and Tariffs
(D) Associate for Economic and Social Reconstruction
2 WE  THSE SLLTes —Spssaui.  abg  Bimeuasdlear  eurflars
BBSILGS S
(A) 205 aUTH3S FUpSTUWILD
(B) uaianm () 6uii$s s Lommid eueniTdFdl FmisLD
(C) sl @LULBSLD
(D) Ounpenngry whmib Faps OMIETLOLILEF FHRIGLD

143. Under which Article, the deadlock may be resolved by a Joint
session of the two houses of Parliament if there is a disagreement
between two houses of parliament regarding the passage of a Bill

(A) 108 (B) 107 (C) 111 (D) 121
b3S  SFWevEnLOLIL| aﬂﬁuﬂm &1p, wlsrgreney  BlanpCaubmieug)
Oam_iuras urgmepwawSSear B m ala)aja;@a;@ﬂml_@i gg)u@u) WPLOSSL L

urgrepwapsdlar B  smeausaflar  Fl®  FLLGST  aped  FiTSE
M6USSLILI(HLD?
(A) 108 (B) 107 (C) 111 (D) 121



144. The Prime Minister Indira Gandhi imposed internal emergency in

(A) June 1975 (B) July 1974

(C) September 1975 (D) October 1975

Syswir Qpdyrarsg) e 6pri® Qpmssy plmev UysLend OFus gyau®
(A) it 1975 (B) gamev 1974

(C) Qe 1975 (D) @&Cmuir 1975

145. Which of the following states in India has a separate constitution
of its own?
(A) Andhra Pradesh (B) Punjab
(C) Tamil Nadu (D) Jammu and Kashmir

Spssemi.  @pSu  wiplmsellsd  sadlsar el  owdlueeanolienL .
OareviBerong 61?

(A) by Gosid (B) oy

(C) silippr(® (D) gibap wpmid smaqubi
146. In India, who formed the first coalition government?

(A) Deva Gowda (B) V.P. Singh

(C) Morarji Desai (D) Charan Singh

Bidwuralled psed emlLenil Lflaow SEwGSeuT Wimir?

(A) Czou seyLm (B) ail.uil.flmi

(C) Gomgmyel Caamul (D) gyeudlm

147. Who uttered the following statement on Quit India Movement?
“The presence of British in India is an invitation to Japan to
invade India. Their withdrawal removes that bait”.

(A) C. Rajagopalachari (B) Muhammed Ali Jinnah
(C) Mahatma Gandhi (D) Sardar Patel

GevarenerGuienr  GeweflCumy Bussd @GYSgH Uldeaumb arsssang Faplwieur
wimir?

“@riglurailes g mdlGoowirser @mLULG, gLILITa6 @[j,gu_lrr g UL QwBSSI
amTn SepLitg CuraingT@d. euTser eurued OupmE OCFampred @?’ryg
ey Caemeanumpm Gum@ib.”

(A) 8. gre@asmumeongemf] (B) sz e gilaenr

(C) warswr smhdl (D) girgmir L GLeb

148. The areas where provisions of the Indian constitution sixth
schedule are applicable was known as
(A) Plain Areas (B) Coastal Areas
(C) Tribal Areas (D) Desert Areas

S sflwevewriilar oreug uliquelayerer alldlEer Epsewi.  eHSLI
uEdlEE CumTmbss srquig?

(A) swBlools LGlHE (B) sLpsmrl LGS

(C) upmigquilernt LGdles (D) uremeveuas LiGHlsE



149. Consider the following statements in reference to the

constitution (739 Amendment Act).

1. The governor of a state constitutes a finance commission every fifth
year to review the financial position of the Panchayats under Art
243-L of the Constitution of India.

2. The suprintendence, direction and control of all elections to the
panchayats are vested in a State Election Commission under Art
243-k of the Constitution of India.

Which of the statement given above is/are correct?

(A) 1 only (B) 2 only (C) Both 1 and 2 (D) Neither 1 nor 2

SpssemiL  gflueenoliy Osriiurer spmsamer &mSSled Oameis (73-6us)

Slweeniol Flwss &L LLb)

1. ,@‘r_r,ﬁu_l Sfwevenwriy  aflgl 243-L a1 g wrplev  oyenmT  @eubleurm
EBHSTETIQEILD, uehaTwsSSlar BlFl Bleevuwllemer wm puiey OFuius e Bl
SOMILISWS GDLIBHS BB

2. @pdu  opflwuevemwoiy &l 243k a1 g uehsTwss  Cairsemnev
SaSTNSSW, uPSTL RS0 wHmid s OUBRSSD CuravauDamD bl
FTHD YLD SAIsSC8% MaudgIeTens|.

Sipsemi_euppled 615 Fifl?

(A)1 wi@w (B) 2 wL@wb (C) 1 wpmub 2 (D)1b Bevewev 20 Bevemev

150. Find the Incorrect Sangam age Tamil Poetess

1. Kakkai Paatiniyar 2. Ookur Masathiyar

3. Mudaththama Kanniyar 4. Panar

(A)1,2,3 (B) 2 only (C) 3 only (D) 4 only
Fms e Guewumh LjovelTserfle SHUDTES @asrr@&&uul_l_mg,a; TGS

1. &ré&maUmqeiluimr 2. @&anll LOTFTSSLITT

3. (IPLSSTLOG: & 6uoTerNl miT 4. vimeworit

(A)1, 2, 3 (B) 2 wL @B (C) 3 wL@w (D) 4 wl(Bw

151. Find the unknown number?
20 13 07
30 08 22
40 ? 28
(A) 10 (B) 12 (C) 16 (D) 20

allPuLL eTemtenewts &meui?

20 13 07

30 08 22

40 ? 28

(A) 10 (B) 12 () 16 (D) 20

152. The diameter of a circle is 10 cm. “P” is the point lying outside
the circle. From that point “P” two tangents are drawn to the
circle. The length of each tangent is 12 cm. What is the distance
between “P” and the centre of the circle.

(A) 12 cm (B) 13 cm (C) 15 cm (D) 10 cm



10 Q&5 alqpeiten eu'Lgdlar QeuallCuw “P” araip yeitafl 2 eiteng). Leirafl
“P” Wil el LSS Quam@® OCesr@Csr®ser  euamywiLL (HeiTeng).
@auGeury GarT@GET Qe gm@m 12 @&.f aafled eulLgdlar  emuwiFhEid
yeitafl “P” d@w Qe iiu’ L Qsrenevey ereirer?

(A) 12 Q.8 (B) 13 Q8 (C) 15 Q&8 (D) 10 Qe.8

153. If A and B can do a work in 6 days. B and C can do it in 12 days.
C and A can do it in 4 days how many days it would take to finish
the same work by all the three together.

(A) 8 days (B) 4 days (C) 10 days (D) 2 days

@ Goumewenws Aupp Bupp Gsihgy 6 mriseflend, Buyp Cupp  Cairhgy 12
B senend, Cuyp Aupb CGsihgy 4 BILselled @PIQLUILIT eTalled, SjeuiTEHEi
apouapd Ceimbg seubaiemevenw aggmern BT Galled (pIgHs Buieib.

(A) 8 prisser (B) 4 priser (C) 10 prisar (D) 2 prisaer

154. A and B can complete a work individually in 12 days and 18 days.
They started doing the work together but after 4 days. A had to
leave and B alone completed the remaining work. The whole work
was completed in
(A) 30 days (B) 20 days (C) 12 days (D) 8 days

A, B @meaut g Comeemw wep@u 12 priser, 18 prisefled wpqliir. 4
et Geuewev umiss Umeg A prdl all@Spmr. h Cumeverws A L@
wprsEprr aafled yeiGeuameenit (PIPAIFID (PIGES G BTLS6iT?

(A) 30 mriser (B) 20 prseir (C) 12 prisar (D) 8 mrisar
155. Choose the correct option to complete the alphabet letter series
ABA CABC DCBA BAB A

(A) ABDCA (B) BCADC (C) ABCDD (D) CBDAA

Ol mB&SLILILL Bidlev epdg Oarii auflmgew Hlewpey OeFuiupd eflwme
allLews Cain0lsBHss

____ABA CABC DCBA BAB A

(A) ABDCA (B) BCADC (C) ABCDD (D) CBDAA

156. Surface Area of a hemisphere is 2772 cm? then the total surface
are of hemisphere is
(A) 4158 cm? (B) 3172 cm? (C) 3882 cm? (D) 4258 cm?

@@ Swylararsdler euemenugiy 2772 cm? eaafldd ymylsrensdlar OCorss
Yoo wimgy?
(A) 4158 cm? (B) 3172 cm? (C) 3882 cm? (D) 4258 cm?

157. How many years will take certain amount to double at 8%
interest per annum at simple interest?
(A) 13 2 years (B) 12 2 years (C) 10 2 years (D) 9 years



@@ Osrms aingn@ 8% salluly essdle FCsTMsmWOCUTD B
WL ESTSDG aalled aBsgIE Csmeepnd smeL
(A) 13 Y2 years (B) 12 2 years (C) 10 Y2 years (D) 9 years

158. If radii of two cylinders are in the raio 5:3 and their heights are
in the raio 3: 5 then ratio of their volumes is
(A)S:5 B)3:3 (C)9:25 D)5:3

Quemi® o (pewensefler gymseailar alldlgd S5 ;3 eeieyd  eumler
2 wymisallar afldlsn 3 : 5 aarapd Qmuller sar Sereysailar allélg ereen?
(A)5:5 (B)3:3 (C) 9 : 25 D)5 : 3

159. A boys cut a sector containg an angle of 140° from a circle of
radium 15 cm and he folded the sector into a cone. What is the
curved surface area of the cone (1=22/7)

(A) 572 sq. cm (B) 527 sq.cm (C) 275 sq.cm (D) 257 sqiem

15 Q&b sygupeiten @ ol LSSledlhHg 1400 enwwsCsmamd CETewi.  g@b
ol L&Casran  u@dleow  @m  wremear Gl QuBSE  JIEISmEnT
FAWmeHE b FelbUTESSl@NTed FLEGD bl - oueneTUTLIL  eTeTen?
(m=22/7)

(A) 572 sq. cm (B) 527 sq.cm (C) 275 sq.cm (D) 257 sq.cm

160. A fraction is such that if the numerator is multiplied by 2 and the
denominator is reduced by 4 we get 10/3, but if the numerator is
increased by 6 and the denominator is doubled we get 11/14. What
is the fraction?

(A)7/5 {BRE /A (C)21/17 (D) 17/21

om Ueamgdlear Gsr@dlow 2 e OCumsdupn, u@gduiledmbg 4 &
oDSSTeD _dlewLssiiGupd Uerend 10/3  gemed Gz  Ulertens e
STGIWLT 6888 dnllq UGISleww Bm wLmsTESleTed dlanL sasLiGlLmD
Uleiemnb 11/ 14 eefled bz Lieremd ereireo?

(A)7/5 (B) 5/7 (C) 21/17 (D) 17/21

161. The Rajiv Gandhi National Aviation University (RGNAU) is located
in which state?

[A] Andhra Pradesh [B] Telangana

[C]Uttar Pradesh [D] Madhya Pradesh

grgdles smpgl Cafw afloren’ Curé@Garsgl UDSmaEGSIED 6bS LOTBlVESe)
SIenLobGleTeng)?

(A) p3lyilyCgibd (B) Glggumismen

(C) 2_58lyLilyCxa1b (D) wsdlw LilyBsaid

162. The book “The Secret Chord” has been authored by whom?
[A] Alice Hoffman [B] Geraldine Brooks

[C] T D Ramakrishnan [D] Tishani Doshi



“The Secret Chord” aihg LsasD wirymed eI(pSLILILL S?
(A) Sremeverd g.".L1GL06HT (B) GQlaggmevemL et Liemdserd
(C) 9.19. grodlmagemre (D) glagrafl Camagl

163. Who has been appointed as the new chairman of the Union Public
Service Commission (UPSC)?

[A] S R Hashim [B] Deepak Gupta

[C] Alka Sirohi [D] David Syiemlieh
Cadlw Csirouremmugdlar Yl smeeugrs wmi Bludlési Heremmir?
(A) ererd. i, aTdld (B) sus @LIgT

(C) @evar FACrman] (D) Crail’ Fwmwedluwim

164. Which committee has been formed by the Securities and
Exchange Board of India forcorporate governance?
[A] Uday Kotak committee [B] Naysa Modi committee

[C] Tejas Muthusamy committee [D] Saketh Sundar committee

et ® plpeuasiseier Jyepmwssts SEBI-apg alilliqamur o meurddug?
(A) ewir Carrd @up (B) mruwigm - Gomg &1
(C) Coggard wpsgismdl GWp (D) e1Csas s G

165. The Gumti Wildlife Sanctuary is located in which state?
[A] Sikkim [B] Tripura [C] Bihar [D] Uttar Pradesh

G cuatailevEls sFyamTEWLD 6hS TBlSSle 2 6ieng)?
(A) fs &b (B) Slflygm (C) e (D) 2_88l5lyCaeaib

166. Consider the following statement:
Assertion (A): The Revolt of 1857 was a failure
Reason (R) : The educated Indians did not support the revolt,
was one among the cause.
(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Sipsaemi aursEmisamen seouef:
aom (A) : 185710 eupLE Fiumus sevsd Czmedall ewLbSFI.

&mrgesnd (R) sovall sHp QBITser H0EFIDG WIT6
Seflssalledeney CIRILIGID @ STTRRTLOTGLD.

(A) (A) wpmd (R) @yewipn afl yemed (R) eaiug (A) alhe@ gfluwmer
QTS HLOGOG

(B) (A) wpmid (R) @yewipd &l Cuweyd (R) aaiig (A) aflp@ gflwrear allendsid

() (A) ol syomed (R) soup

(D) (A) soups sponned (R) o



167. Match the following and choose the correct answer from the
codes given below

a. B.G. Tilak 1. Swaraj Party
b. Raja Ram Mohan Roy 2. Indian Home Rule League
c. C.R. Doss 3. Servants of India Soceity
d. G.K. Ghokhale 4. Brahmo Samaj
a b c d
(A) 1 2 3 <
(B) 2 1 3 4
(C) 2 4 1 3
(D) 3 1 4 2

é?WQJ@ngmg)mg) gfluras  Gurmsd GoluiGsalldimbg sflurear el enw
irey

a. Umey SEISTST Blevsir 1. gwgreyedlus &1 8l
b. gregmymb Guoraer gmui 2. @il Capmd eped Quidsid
c. 8. syt smed 3. @l Caeusisenr FmisD
d. Casmurer dmagen CsrsGev 4. Ulyibo FiomegLd
a b c d
a 1 2 3 4
(B) 2 1 3 4
© 2 4 1 -3
(D) 3 1 4 v

168. Match the following Buddhist councils with their places and
choose the correct answer from the codes given below:

a. First Buddhist Ceuncil 1. Kundavana

b. Second Buddhith' Council 2. Pataliputra

c. Third Buddhist Council 3. Vaisali

d. Fourth Buddhist 4. Rajagriha
a b c d

(A) 1 2 3 4

(B) B 4 2 1

(C) 4 3 2 1

(D) 4 3 1 2

$8yp OGar@ssiiui@eror  Ouerds  wIBTRSMen  eweuser el GLbm
QL msenLar Qurmsgs. sflwrer alaLeaw @GpluiBsalledmbg Csirey Geuis:

uLiquie— I uLiquied — II
a. g Gueards wIBTEH 1. (&6WIL6uedLD
b. @rewiLmeugy Querdgg wrBT®H 2. umLellysdlyib
c. apaipreug Ouetéds wrmT®H 3. meuagme]

d. praisreug Ouetés wrBTEH 4. gredlmad
a b c d

a 1 2 3 4
B 3 4 2 1
(C) 4 3 2 1
W 4 3 1 2



169. Consider the following statement:

Assertion (A): The first Tamil encyclopaedia was published and
realsed by the education minister Avinasilingam
Reason (R) : The first Tamil encyclopaedia was complied and

prepared by M.P. Periyaswamy, popularity by
known as “Thuran”.
(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

SpssemiL aursElmismen seuel:

anpm (A) : s> s smvd saeFlusms JFALEH OeueflluiliL
vall gew&ait allbrdleibisLb.
smyesnd (R) - s Sl smvd saedlusms OsrEsg, sSwrhes
Qeveflw Leuir enb.fl. Quifluemsl, “gmryer” een Ulyueons
IS SLI(HGUTIT.

(A) (A) womd (R) Byeauew &afl emed (R) eaiugr (A) el — afluwmer
TS SHLOGOGV

(B) (A) wpmip (R) @yewi@d &l Guweayb (R) araiig (A) allp@ sflwmer allendsid

(C)(A) ol gyemred (R)  soumi

(D) (A) goups opemred (R) ' o

170. Identify Buddhist monks from the given list and choose the
correct answer from the codes given below
1. Abi Nandanar 2. Kundu Nadar
3. Nada Kuttanar 4. Munisuvartar
(A) 1 and 2 only (B) 1 and 3 only (C)2 and 4 only (D) 3 only

Oar@ssri@eren U queledmbg Oumds Ud@Gae epLwimend Semi®,
@Puipsaflledlmbpg Fflwrear alleLeanws Ggrrg,(a%g@

L ollpbsi 2. @bal Brsi
3. BIS (@SS 4. (peilFeuid ST
(A) 1 wpmdp 2 L @D (B) 1 wmmid 3 ol Gid
(C)2 wommd 4 i @D (D)3 wL @G
171. Consider the following statement:
Assertion (A): Tilak became the editor of Vande Mataram.
Reason (R) : He severely criticized Christianity and Islam.

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Sipsaemi aursElmiEmen seouef:

aom (A) : bG35 wremd usdfldmasuilar ugliurfflugrs Seosi
DY, GOTITIT.
&mrgewnd (R)  : dflsgiand wHmd Bedeordp ByevienLud  &HLOWITE

Beuir afloirfgsmir.



(A) (A) wpmd (R) Byemipw &fl yemed (R) eaiug (A) aln@ aflwmer
A& SOV

(B) (A) wpmid (R) @yewipd &l Cwepid (R) eraigy (A) aflb@ #flwmer allendsid

(©) (&) ol syered (R) soupy

(D) (&) soupy spemred (R) o

172. Match List I with List II and select the correct answer using the
codes given below
List- I List- II
a. W.C. Banerjee 1. President of the Second Indian National
Congress Annual Session
b. Dadabhai Naoroji 2. President of the Fourth Indian National
Congress Annual Session

c. Tyabji 3. President of the First Indian National Congress
Annual Session
d. George Yule 4. President of the Third Indian National

Congress Annual Meeting

a b c d
(A) 3 4 2 |
(B) 3 2 1 4
(C) 3 1 4  /
(D) 2 3 4 |

auflns I orar eaflws II e  Qurmpsdl &p OCar@asil Berer
Osreullelmpbg sflwrer aflmLwlmer Gsfle; CQeuis.

uLiguieo— I ucCiquied — II
a. W.C. ureirgd] 1. @gawiroug @il Caflu stmdlyad oy eawBs
Gl LSBT SemevauiT
praisTas Qpslu Cassw srmdlyad oy eauBs

Gl LSBT Semevauit

N

b. sramumul GrerCrmgd)

c. glwmig 3. psed @pdlw Csdlw srmidlyed oy awBs
Gl LSBT Semevauit
d. gy uy G 4. epeipreug Bpdu Cadlu srtmdlyed oy aHs

Gl LSBT Semevauit

a b c d
(A) 3 4 2 1
(B) 3 2 1 4
(C) 3 1 4 2
(D) 2 3 4 1
173. Consider the following statement:
Assertion (A): The Muslim League was established in 1906 by
Nawab Salimullah.
Reason (R) : The Muslim League put up its demand of
Pakistan in 1941

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true



Spssei aursElumismen seuefl:

anpm (A) : BTl  FeOlIpedevT  GIaiIUITed (Pabdedld & 1906 b

4, 01(h) BlmieuLiul L g.

smyesnd (R) - 1941 g e  wpavedd &  undlavgmern

Carfléamaamuw (PR DAUSSS.

(A) (A) womd (R) Byemipn &fl yemed (R) eaiug (A) alh@ afluwmer
18 &LOGD6V

(B) (A) wpmid (R) @yewipd &l Cuweid (R) araiugy (A) aflb@ #flwmer allendsid
(C) (A) e syemmed (R) Soumy
(D) (A) soupy spemred (R) o

174. Match the following and choose the correct answer from the code
given below

a. Subramania Bharati 1. Pratapa Mutaliar Saritiram
b. Bharatidasan 2. Kudiyarasu
c. Vedanayakam Pillai 3. Pappa Pattu
d. E.V. Ramasamy 4. Desa Baktan
a b c d
(A) 2 3 1 4
(B) 4 3 2 1
(@) 3 4 2 1
(D) 3 4 1 2

Spaai_aupomp Curmsss. sflurer . oflemieaw @PluiGsalalmbg Csiey
FU185:

a. algweniu LTys) 1. Ulgsmu apgedwri FflgSlrid

b. unydlgraer 2. BQUITSH

c. Cougprwsd Uletenen 3. umdur urc @

d. m.Qeu. grogmsl 4. Ca& uss e

a b c d
(A) 2 3 1 4
(B) 4 s 2 1
(©) 3 4 2 1
D) 3 4 1 2

175. The first sermon was given by Buddha at Saranath was called as
“Dharma Chakra pravartana” which means
(A) Turning of the wheel of law (B) Framing of the wheel of law
(C) Principle of the wheel of law (D) Philosophy of the wheel of law

FmymEng  aeigidl e UssT swg s Cumpempurpdwens ‘smd  F&y
Uyeurssarr’ eer seipssliLiBeuger GLmmer

(A) Gowiews euruitium’ /) Féars5lar Gpnd]

(B) Gowltemio eumwitiin’ (h F&arsdlen pliraomid

(C) Gowiews eumwitium’ B Féarsdlar OCsmreatams

(D) Goulens eumuitiin’ (h) #6555l S&GIauLd

176. The technique followed in “Test tube baby” programme is
(A) GIFT (B) ZIFT (C) ICSI (D) IVI



“Cargemen @Gru Gibms” Blspsduliled Uau@ssiu@n Qsmbled mi b
(A) GIFT (B) ZIFT (C) ICSI (D) IVI

177. Which of the following aimed to create community assets for
strengthening rural infrastructure?
(A) Integrated Rural Development Programme
(B) Rural Landless Enployment Guarantee Programme
(C) National Rural Employment Programme
(D) Hill Area Development Programme.

gpasrw OQersgisasmer 2 (heursdl, dymoLyn 2GSl LWLy  uFSlEmen
ueLL®Ss Spssamiaupdled asdl L @GlsCasrems QsmawiBereng)?

(A) @pmidlenemibg eays euenmTEsld S LLb

(B) Blevwopm Slymo wésefiler Ceumeveuruiriy o migl $iiib

(C) Bzl Slymoriyp Geuewev eumuiiyg Sl b

(D) wewevrii@dl Cuobum’ g S Lib

178. Which of the following Five Year Plan of India has stressed
‘Expansion, Excellence and Equality” in education?

(A) 12th Plan (B) 11th Plan (C) 10t Plan (D) 9th Plan

@g,é)u_umﬂa) aﬁg m;bgnm@ gL ‘sdalluiled  aflfla) sy, Fwplma’

sleupeD eelDISSSISEI?

(A) 126 Sl L1b (B) 110 &l L1b (C) 100 Sl L1b (D) 9b 'L 1b
179. Which industrial phase is called the period of Industrial

Recovery?

(A) Phase I 1951 - 56 (B) Phase II 1965-80

(C) Phase 111 1981-91 (D) Phase IV 1991-02 onwards

Oamfled 15 flé @mevld etaiimy SewipssLILIGL OBTledbleney STeld 61g)?
(2) flaveo 1 1951 - 56 (B) flavev II 1965-80
(C) Hlawev 111 1981-91 (D) Bleveo IV 1991-02 a5

180. Who was the chairman of the Twelfth finance commission
constituted by the president of India?

(A) Raja Chelliah (B) C. Rangarajan

(C)K.C. Panth (D) J.P. Neogi

Spdu geamdludluired sewassiL 12018 BlFlE@Gueallear seneveuir wimr?
(A) prggm Glgavemevuim (B) 8. gmisyTege

(C) Ca.4. Lbs (D) G BlCwird

181. Identify the Twelfth five year plan period of India.
(A) 2007-2012 (B) 2008-2011 (C) 2011-2016 (D) 2012-2017

guwmrailar uaialGyewTaig RHESTHIRS I LsSlar sTvsmss savbLlgss
(A) 2007 - 2012 (B) 2008 - 2011 (C) 2011 - 2016 (D) 2012 - 2017



182. Peacock sanctuary in Tamil Nadu is located in
(A) Kodikkarai (B) Mudhumalai (C) Mundanthurai (D) Viralimalai

SOPBILIGED ST Howlled Fyemmeowd 6miE STaLILBEmE?
(A) Camquigsamiy (B) wpgioemnev (C) wpewi_pgiomm (D) allyredlenev

183. In which year child labour policy was passed?
(A) 1980 (B) 1987 (C) 1985 (D) 1982

Casflws@wims Gamblerent Qsmerens BuHpLilL ewiR 6g?
(A) 1980 (B) 1987 (C) 1985 (D) 1982

184. National income of a country can be calculated by .
(A) 2 methods (B) 3 methods (C) 4 methods (D) 5 methods

BIL® QBRGNS SIS B eulpenmaEer
(A) 2 @pempser (B) 3 gpewmaser (C) 4 gpewmaen (D) 5 upemwpsain

185. Which year GPS was established to overcome the limitation of
previous systems?
(A) 1970 (B) 1972 (C) 1973 (D) 1976

b R 2.w8s S@wallEser saiLpup  COsrgdl  uempw
popsailedpbgl @GmnEer FSSUILLE WAL PSS abS3?
(A) 1970 (B) 1972 (C) 1973 (D) 1976

186. The ratio of boys and girls in a class 4:5 if the number of boys is
24, find the number of girls
(A) 20 (B) 19 (C) 16 (D) 30

@ eu@Litled e-een renteuat wmmLd wramailseflar allélg 4: 5 ear 2 ereng).
oretaueiler eevtenndans 24 eafled wramalsellar aanalsame ealalene).
(A) 20 (B) 19 (C) 16 (D) 30

187. A wall is to be constructed with length 60 m, breadth 3 m and
height 5 m. How many bricks are required to construct a wall with
length 30 cm, breadth 15 cm and height 20 cm?

(A) 1,50,000 (B) 1,25,000 (C) 1,00,000 (D) 1,75,000

perb 605 @evd 3 15 2 wgd 5156 e ewLw Geur eupli Hemd 30 GFd x
oD 15 G X 2 wimb 20 GFb 2 aLw Osmsnser assaar Cseaneu?
(A) 1,50,000 (B) 1,25,000 (C) 1,00,000 (D) 1,75,000

188. The radii of two right circular cylinders are in the ratio 4:3 and
their heights are in the ratio 7:4 then the ratio of their curved
surface areas is in the ratio
(A)3:5 B)S5:3 C)3:7 (D) 7:3



Quemi® Opireu’L 2o (Hearsellar Qyyrsaiar aldlsn 4 : b Sjeupplest
2 wymisaiar alldlsn 7 : 4 aafled Deumnler mmmuguqa;aﬂaﬂ aﬂgl
(A)3:5 B)5:3 (C)3:7 (D)7 3

189. Raju starts walking towards south. After walking 20 m he turns
towards North and Walks 8 m. Again he turns towards East and
walks 5 m. How far and in which direction is he form his staring

point.
(A) 15 m, South (B) 17 m, North-West
(C) 7m, East (D) 13m South-East

grg3 aaiuei Ggpe Cprédl pLéss @grn.r.m@&;ﬂrrrr 206 Gmyd BLBS SHeut
auLs@ Cprsd é?@wl_#' LBI’B &b pLESIDT. Lo lJl.qu.ll.D slpsg Cprédl
Sl 5 15 gmyid 151.&;357[_1):1:1 aalled bl B SFlemhE aealeueTey GHmyLD
apds Slengulled seur GmLmir?

(A) 15. & QapE (B) 17 15 euComs
(C)7 15 SpsE (D) 13 5 Glsa@idlpda
190. The sides of 14 Square’s are 11lcm, 12cm, 13cm, .........o... 24cm,
then find the total area of 14 squares
(A) 3515 cm? (B) 4515 cm? (C) 2115 cm? (D) 3215 cm?
11 Ggub, 12 Gaub, 13 Gaib ......... 24 Qzib gydluarapap popGu uss
DICTT6LSE 6N QsmemiL 14 ggmiseilenr QTSSLLITLL] HTams
(A) 3515 cm? (B) 4515 cm? (C) 2115 cm? (D) 3215 cm?

191. The Abohar Wildlife Sanctuary is located in which state?
[A] Tripura [B] Nagaland [C] Punjab [D] Kerala

SCurani aeailen s sgemmowd apg WMEvsSled 2 eieng?
(A) Siflygm (B) prameomba (C) u@hamL (D) Gsyemm

192. The World Theatre Day (WTD) is observed on which date?
[A] March 28 [B] March 25 [C] March 26 [D] March 27

“2 wa Flegwgnris prar’ ebs Csdlulled Gsmewm LiLGEng?
(A) wrirF 28 (B) wmirF 25 (C) wrirF 26 (D) womr& 27

193. Which football team has won the 71st Santosh Trophy Football
tournament-2017?
[A] West Bengal [B] Goa [C] Gujarat [D] Tamil Nadu

710ug s608smad Casmiemu smeoupg Gumiig — 2017 ulld abs @&TeLbS e
Geupn) CLpma?
(A) G eumismend (B) Cameur (C) ®»zmus (D) spmr@



194. Who is the newly elected Prime Minister of the Commonwealth of
the Bahamas?

[A] Fred Mitchell [B] Jmeail Dames
[C] Hubert Minnis [D] Marguerite Pindling
“s1EwearGcsdlar Ulgmorad” a1 ydlw dlygsw widflwures Csills®és L euir
wimir?
(A) Ulg® e Caed (B) gabed Lmiberd
(C) wy, G’ hlevreflerd (D) woriraCrl. Lilev el

195. Who has been selected as the new Director for Twitter in India?
[A] Taranjeet Singh [B] Junaid Ahmad
[C] Saroj Kumar Jha [D] M Teresa Kho
Siduralpsrear “Twitter” ar ydw Quis@nires Csils®ssiiul Lol wmir?
(A) sraigdls Slmi (B) owen(® isiogi
(C) eCyre@Lomit g (D) enb. IGyam Gz

196. How the Rajya Sabha members are elected?

A) Elected by Lok Sabha members

B) Elected by the State M.L.As

C) Elected by the Lok Sabha and Rajiya Sabha members
D) Elected by Members of Legislative council

— — — —

wirflevBisaree 2 piiifleirsemer wirit Cain6\s®dSlamet?

(A) Caitey Qeuiwiu’ L wéHserened o miLiLleiTa e

(B) Caitey Qauiwi’ L _wompley lLgean o muiileirger

(C) Caitey QeFuiwiulL 1&HSeTemer OHMID LOMHVBIGTMe 2 M 1L ileiTd6ir
(D) Caitey @Qeunuciu L wmplev Cwedgenns (M.L.C.) o muiileirgeir

197. UPSC, chair person and members are appointed by
(A) President (B) Prime Minsiter
(C) Vice President (D) Supreme Court Judge

weSw Curgs ueflwrert Caireurenemnugdlar SeneveuT wHMID 2 M leriTEsaner
Blwiwend GEFuiLieuir

(A) Glowrss smeveui (B) Ulygio bl
(C) sioman Gquigss sameveui (D) 2 éepdloap bl
198. Which of the following is not included in the union list?
(A) External affairs (B) Public Health
(C) Aduit and Account (D) Defence

SipaupLemeusafled 618 WS Lliquiellsy Cagrsg?
(A) Gewellymey alleusTymiser (B) Qurrgy asmsmyib
(C) samsdlucd wpmid safléams (D) urgsmiL



199. In which District of Tamilnadu Keeraivetti Bird sanctuary is

located?
(A) Ramanathapuram (B) Thirunelveli
(C) Ariyalur (D) Nagapattinam
ST QT g i LsSled  ‘sawleu’ly’ upmeuser  FgemITEOWILD
OIMLODHSI6T6NSI?
(A) BgmoprsLid (B) glip6pedGovell
(C) @ifluseyrrit (D) prsLliulqetd
200. Match List I with List II and choose the correct answer
a. Maunaloa 1. Africa
b. Vesuvius 2. India
c. Mt. Killimanjaro 3. Hawai
d. Norcondam 4. Italy
a b c d
(A) 2 3 4 1
(B) 3 4 1 2
(C) 4 1 3 2
(D) 4 1 2 .
al'_LQUJGi) gatenp ULiqued BuenLer Gumrpsdl  Fflwrar alloianw  Csirey
FUls:
uliquied e ULgued Byewi®
a. GurammGeomeur 1. gyunsifleem
b. GQeug,ailused 2. @mdlwir
C. weyewi’ dlemoehgTCym 3. ameumul
d. mrireemLLD 4. @szm6
a b c d
(A) 2 3 4 1
(B) 3 4 1 2
(C) 4 1 3 2
(D) 4 1 2 3



TNPSC GROUP - 2A - FULL TEST -1

(

R KEY)

ANSWE

1. B | 21. D 41. B 61. 101. A 121. A 141. B 161. C 181.D
2. D | 22. C 42. C 62. B 82. C 102. C 122. C 142. C 162. C 182. D
3. D| 23. B 43. D 63. C 83. D 103. C 123. D 143. A 163. D 183. B
4. C| 24. C 44. A 64. B 84. B 104. D 124. D 144. A 164. A 184. B
5. A | 25. B 45. C 65. A 85. C 105. D 125. A 145.D 165. B 185.C
6. C| 26. C 46. D 66. D 86. C 106. A 126. B 146. C 166. A 186. D
7. B | 27. C 47. D 67. B 87. A 107. A 127. A 147. C 167. C 187.C
8. C | 28. C 48. D 68. C 88. C 108. C 128. C 148. C 168. C 188.D
9. B | 29. A 49. A 69. A 89. D 109. A 129. C 149. C 169. B 189.D
10. B| 30. C 50. C 70. B 90. A 110. A 130.D 150. D 170.D 190. B
11. C| 31. B 51. C 71. D 91. D 111. A 131.D 151. B 171.D 191.C
12. C| 32. D 52. D 72. B 92. B 112. D 132. D 152. B 172. C 192. D
13. C| 33. B 53. A 73. C 93. A 113. A 133. B 153.D 173.C 193. A
14. D| 34. C 54. C 74. C 94. B 114. A 134.C 154. C 174. D 194. C
15. A| 35. C 55. D 75. C 95. A 115. A 135. A 155. A 175. A 195. A
16. D| 36. C 56. D 76. B 96. A 116. A 136. B 156. A 176. B 196. B
17. B| 37. C 57. A 77. C 97. B 117. A 137.C 157. B 177.C 197. A
18. B | 38. A 58. C 78. D 98. C 118. A 138. C 158. D 178. A 198. B
19. A | 39. A 59. A 79. B 99. C 119. A 139. C 159. C 179.C 199. C
20. D | 40. A 60. A 80. A 100. C 120. C 140. C 160. B 180. B 200. B



mailto:anmanidhanaeyam@gmail.com

	Full Test - 1 - 200 questions

